
Lec It
Recall properties of determinants from last lee.
# How elem row ops affect det

1. Interchange two rows
3. Ahal one now by won sero const - mil by that constant
3. Add mil of one now to smother mul by,

# Property 6: PAne has a row of zeros, det A =0

Proof: we can add arether news to the zeros now without chauzing det Aa datA=o

mul det by
since dat is hat fines red.

then we have repeated rows
(edge case: CoI in which we can't swap nows, so use Lit angument)

* Riperty": In hate wasple agender, then dirt is pachet of entries
Proof
Case l: dis . dn +0. Do: add

mud of each row to
the row above to get

..da
so det A = det-' Al

some di is O. Then add
mil of row to another to
get a row of allI zeros

I d

"',
= dido det o

We know

"detA=d...am
det A'=O= detA

= didn det

det

A' =
Case 2:

O
"di

A'= O"O.. In)

b



11451. 060

= (-1) (1) C-1) 0 2-4 = (2) (-1) (1) (-0)

= (1) (2) (-1) (1) C-0)
10 0-42

interestingly, these are determinands of the
elem matrices for our operations

* ref(A) = In e det (A) +O 4 JAI » "'A is non-singular"
* mef (A) + In $ det (A) = O 4 DA » "'A is singular"

Ex.
A=

0 2.4
3 0-3
1 4 5

det A= (-1)
0 2 -4

[1457
0 -12-18

0 2 -4

'1 4 57

0-12-18

(14 5"

11 4 5
1.2

0-12 -18

= -84


